Hasslovs BK

Barometer 15 oktober 2020-10-15

Partavling, 8 bord, 15 par.

Antal brickor: 24. Medel: 143.5. Frirond (*) ger egen procent.

Plac Par Poéang % Namn MID Klubb
1 7 175.1 60.81 Bengt Larsson - Bengt-Goran Einarsson 35169 48761 Laholms BK
2 13 1745 60.60 Karl-Otto Waara - Ingegéard Nordenberg 46227 11872 Laholms BK
3 11 1705 59.20 Karin Nilsson - Bert Gustavsson 87406 12209 Laholms BK
4 12 165.0 57.30 Jan Gustavsson - Anders Olsson 35158 4950 Hasslovs BK - Vastra Bjare BK
5 1 151.8 52.71 Anders Forsander - Urban Carlsson 43890 88235 Hasslovs BK
6 4 147.6  51.24 Ulrik Starck - Adler Sjunnesson 46148 46150 Hasslovs BK
7 6 1416 49.16 Rolf Nilsson - Matts Idoffsson 59008 61185 Laholms BK
8 15 140.1 48.64 Kerstin Plantin - Monica Melén Beijer 31129 62031 Bastad BK
9 3 139.7 48,51 Erik Tornvall - Peter Ernmark 52901 66827 Bastad BK - Véastra Bjare BK
10 10 131.1 45,51 Ingvar Hansson - GOran Jansson 64031 91543 Hasslovs BK
11 2 130.0 45.13 Leif Malvefors - Gunnar Alexandersson 24241 8881  Hasslovs BK - Laholms BK
12 5 126.,5 4391 Tom Sandquist - Monica Sandquist 33275 33276 Laholms BK
13 14 126.4 43.89 Kerstin Schlyter-Sunnerholm - Agneta Edbergh 43852 12217 Vastra Bjare BK
14 9 117.7 40.87 Jonny Aronsson - Jens Ahslund 88229 88230 Hasslovs BK
15 8 115.0 39.94 Harald Nilsson - Boris Larsson 43856 12220 Vastra Bjare BK
1 410987 2 4« E1086 3 4 EK5
Nord vD73 Ost vE74 Syd v D94
Ingen 4986 NS + Kn85 ov + ED85
#Kn107 #E43 #ED5
4E643 &K 493 & DKn42 4 Knl10432 46
vE652 vK10984 vKD1086 vKn92 vE5 v 863
¢ EKn4 + KD5 +D3 + E1062 4972 + K643
*42 #EK53 «D875 *K2 #873 #KKn962
4« DKn52 4« K75 « D987
vKn v53 v KKn1072
410732 + K974 ¢ Kn10
£D986 #Kn1096 104
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 12 7v0O-1 45 50 120 00| 1 9 3v V-1 3 50 11.0 10 1 9 3NN+2 46 460 10.0 2.0
15 7 4v O+2 42 -480 100 20|13 5 2vV-1 48 50 11.0 10(10 2 3NN+2 &6 460 100 2.0
14 6 4v O+3 4Q -510 80 40|14 6 24 N-1 vJ -100 80 40|13 5 3NN+2 v6 460 100 2.0
1 9 6v0O-= 45 -980 30 90| 3 11 2v V= +J -110 50 70|15 7 5vS= ¢9 450 6.0 6.0
3 11 6v O= »8 -980 30 90|15 7 14 O0+1 7 -110 50 7.0 3 11 3NN+1 46 430 3.0 9.0
10 2 6vy0O= 2 -980 30 90| 4 12 2vV+1 ¢5 -140 20 100(14 6 3NN+1 &9 430 3.0 9.0
13 5 6v 0= vlJ -980 30 90|10 2 2NN-3 +6 -300 0.0 120| 4 12 3NN= «2 400 0.0 12.0
8 - 45 8 - 45 8 - 45
4 « D53 5 « KKn643 6 a2
Vast v 107 Nord v EKn74 Ost vE74
Alla ¢ EKn97 NS ¢- ov + K9863
*E974 &#ED75 &Kn543
4 Kn84 4 K1096 4108 4 E52 4 E1096 4 KKn853
v EKKn853 v D964 v 103 v 952 vK962 D8
¢10432 + K65 ¢ EKD10874 932 ¢EKNn72 ¢5
»- #DKn *64 #K1092 +10 #D9762
AE72 4 D97 «D74
v2 v KD86 v Kn1053
+ D8 ¢ Kn65 + D104
#K1086532 #Kn83 #EK8
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
13 6 5#S= vA 600 120 00| 9 2 44DN= 2 790 120 00|13 6 INS+1 v2 120 12.0 0.0
3 10 44S+1 vA 150 90 30|12 5 4vyN= +9 620 90 30| 9 2 440-1 +Q 100 10.0 2.0
12 5 44S+1 K 150 90 3.0(14 7 4y N= +9 620 9.0 30| 3 10 34 V= +3 -140 8.0 4.0
8 15 34S+1 ¢vK 130 6.0 60| 3 10 34 N+2 3 200 6.0 60| 8 15 34 O+1 &A -170 50 7.0
14 7 54S-1 vA -100 40 80| 4 11 34 N+1 ¢9 170 40 80(14 7 340+1 &A -170 50 7.0
4 11 3vV+1l &3 -170 20 100(| 8 15 3vy N= +3 140 20 100| 4 11 44 O= *A -620 1.0 11.0
9 2 4v V= *7 -620 0.0 12.0|13 6 4¢DV-1 a3 100 0.0 12012 5 44 0= vlJ -620 1.0 11.0
1 - 6.0 1 - 6.0 1 - 6.0
7 4653 8 « DKNn76 9 4 ED72
Syd vKn10 Vast v EKDKn53 Nord vE632
Alla + KD2 Ingen *7 ov 42
#D8742 &Kn2 #3843
497 4« KDKn104 4854 4 E32 4 KKn1094 463
v 9752 vE4 v 976 v 108 v 98754 v K10
¢ Kn5 49743 ¢ EKKn6 ¢ 109543 ¢+ K + Kn96
#EK1053 #96 +KD9 643 *E9 #KKn10765
4 E82 4« K109 485
v KD863 v42 v DKn
+ E1086 + D82 ¢+ ED108753
#Kn #E10875 «D2
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
12 6 24 O-2 vK 200 11.0 10| 4 10 4¢v N= +3 420 11.0 10(11 5 440-3 ¢+A 300 120 0.0
13 7 24 0-2 %] 200 110 10|12 6 4v N= aA 420 11.0 10|12 6 3¢ S+1 &#A 130 9.0 3.0
3 9 3vS= 49 140 80 40| 1 15 2vy N+2 ¢5 170 40 80(13 7 3¢ S+1 &9 130 9.0 3.0
4 10 3¢ S= «A 110 50 7.0 3 9 3vy N+l ¢5 170 40 80| 1 15 3¢ S-1 *A -50 40 8.0
11 5 3¢ S= 49 110 50 7.0 8 14 2vy N+2 T 170 40 80| 4 10 3¢ S-1 *A -50 40 80
8 14 24 S= *A 90 20 100|11 5 2¢N+2 T 170 40 80| 8 14 3¢ S- *A -50 40 80
1 15 3¢S4 49 -400 0.0 120|113 7 3y N+1 T 170 40 80| 3 9 24V= *4 -110 0.0 12.0
-2 55 - 2 55 - 2 55
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10 53 11 873 12 « ED6
Ost vDKn8 Syd v K95 Vast v K1076532
Alla ¢ E7642 Ingen + KD76 NS +8
D98 £1064 84
484 & KKn10972 «D1092 4 E54 4109542 o-
v 943 v 106 vE104 vD73 vD9 v Kn84
+ Kn95 + D8 ¢ Kn832 ¢ E95 ¢ Kn32 + EKD9764
#EKKN76 #1043 #Kn2 *K875 #KKn7  #D106
« ED6 « KKn6 « KKn873
v EK752 v Kn862 vE
¢ K103 ¢ 104 ¢ 105
&52 #ED93 #E9532
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 14 49vS+1 &A 650 120 00|12 7 INV-3 *4 150 120 00| 1 14 4y N+1 ¢A 650 100 2.0
4 9 4y S= 48 620 90 30| 1 14 INO-2 v6 100 100 20| 4 9 4v N+1 ¢K 650 100 2.0
11 6 4v S= 48 620 90 30| 4 9 INN-1 a4 -50 80 40(12 7 4¢vyN+1 ¢A 650 100 20
8 13 2v S+2 48 170 40 80|11 6 1aV= ¢+ K -80 60 6010 5 3vN+1 ¢A 170 6.0 6.0
10 5 3vS+1 #K 170 40 80| 8 13 INO= v2 -90 30 9.0 8 13 5¢ O-1 vA 50 40 8.0
15 2 3vS+1 #K 170 40 80|10 5 INO= v6 -90 30 90|15 2 44 S-1 *2 -100 20 10.0
12 7 3NS-1 *6 -100 0.0 120(15 2 INO+2 &9 -150 0.0 120(11 6 4¢ O= vA -130 0.0 12.0
3 - 6.4 3 - 6.4 3 - 6.4
13 « DKn865 14 45 15 «D4
Nord v6 Ost v72 Syd vD63
Alla 497653 Ingen ¢ 107532 NS + K10863
#93 £107632 &EDS8
4 K103 49 & K72 ~ E83 53 & K9876
vKD98 ¢E752 vD108654 vEK3 v EKKn105 v8
¢ ED10 ¢Kn + E6 + KKn84 ¢ DKn97 +52
K52  #EDKn10874 *K8 #DKn5 K9 #Kn7432
« E742 « DKn10964 « EKn102
v Kn1043 v Kn9 v 9742
¢ K842 +D9 ¢E4
*6 &E94 #1065
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
9 5 6vyV-1 6 100 120 00| 1 13 4v V+2 a5 -480 80 40(10 6 2¢DN= 8 180 120 0.0
3 15 3NV +3 46 -690 70 50| 3 15 4vV+2 45 -480 80 40| 3 15 2¢ N+1 +8 110 100 2.0
10 6 3NV +3 a5 -690 70 50| 9 5 4v0+2 & -480 80 40| 1 13 2¢ N= v8 90 6.0 6.0
11 7 3NV +3 +Q -690 70 50|11 7 4vV+2 45 -480 80 40| 8 12 2¢ N= v8 90 6.0 6.0
14 2 3NV +3 «Q -690 7.0 50(14 2 4vyV+2 45 -480 80 40(11 7 2¢ N= v8 90 6.0 6.0
1 13 3NV+4 & -720 20 100(10 6 3NO+3 4Q -490 20 100(14 2 2¢ N-1 v8 -100 2.0 10.0
8 12 6NV = «Q -1440 0.0 120 8 12 6y V= a5 -980 00 120 9 5 2NS-2 vK -200 0.0 12.0
4 - 6.0 4 - 6.0 4 - 6.0
16 4 K1085 17 « EK1062 18 @-
Vast v K94 Nord v4 Ost v EKn10975
ov + KD5 Ingen + 1062 NS +D4
&ED7 #10542 #D10654
4EKn4 49 & Kng4 49753 4 8653 « EK104
vE763 vDKnl02 v EDKn1086 v92 vK v2
¢ E6432 ¢ 97 ¢ Kn75 + K983 ¢+ KKn10962 ¢ 8753
&5 #Kn109632 &8 #K96 *E9 #KKn72
« D7632 «D « DKn972
v 85 v K753 v D8643
¢+ Kn108 ¢+ ED4 +E
K84 #EDKnN73 #83
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
4 15 24 N+1  +9 140 100 20| 3 14 3NS+1 vA 430 120 00| 3 14 4v N+1 A 650 11.0 1.0
8 11 24 N+1 vQ 140 100 20| 9 6 3NS= vT 400 90 30 9 6 5¢vN= sA 650 11.0 1.0
13 2 24 N+1 +9 140 100 20|13 2 3NS= vT 400 90 3.0| 4 15 54DO-3 ¢A 500 8.0 4.0
1 12 INN+1 &J 120 6.0 6.0 4 15 44 S+1 vA 150 50 7.0(13 2 44DO-2 ¢A 300 6.0 6.0
9 6 INN= +9 90 40 80(10 7 3#S+2 ¢J 150 50 7.0( 1 12 34 0-1 *A 50 2.0 10.0
3 14 44 S-1 *5 -50 1.0 11.0| 1 12 3&#S+1 vA 130 20 100| 8 11 34 V-1 vA 50 2.0 10.0
10 7 2NN-1 +9 -50 1.0 11.0| 8 11 2v V= &K -110 00 12010 7 340-1 *A 50 2.0 10.0
- 5 56| - 5 56| - 5 5.6
19 « E1098 20 410985 21 1064
Syd v DKn2 Vast v 107 Nord v E1087
oV ¢ 105 Alla ¢ KKn62 NS ¢+ K3
#DKn82 #Kn105 &EK42
4« KD5 473 «D4 & EK7 « EKDKn5 497
v 64 vE109753 vE98542 v KKn63 v 64 v DKn93
¢ DKn82 ¢ EK93 ¢+ D107 ¢ E54 + D9 410872
#K753 #10 #D6 #973 #Kn876 D103
& Kn642 « Kn632 4832
vK8 vD v K52
¢ 764 4983 + EKn654
#E964 #EK842 #95
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 11 3NV-3 49 300 120 00| 4 14 3v O+1 #A -170 11.0 10|12 2 24 V-4 «A 200 120 0.0
3 13 4v V-1 «Q 100 90 3.0 8 10 3vV+1l &J -170 11.0 10| 3 13 2vy N= 49 110 80 40
12 2 4v0-1 *4 100 90 30| 1 11 4v V= aT -620 50 7.0 4 14 2v N= 49 110 8.0 4.0
4 14 2v O+1 &A -140 50 7.0| 3 13 4v 0= *A -620 50 7.0(15 5 2vy N= 49 110 8.0 4.0
15 5 3v 0= a2 -140 50 70|12 2 4v V= vT -620 50 70| 1 11 34V-2 &K 100 20 100
8 10 2v O+2 ¢7 -170 20 100(15 65 4v V= *] -620 50 7.0(| 8 10 1e V-2 +K 100 2.0 10.0
9 7 4v 0= *6 -620 0.0 120| 9 7 4vyV+1l 48 -650 0.0 120 9 7 24V-2 K 100 2.0 10.0
- 6 52| - 6 52 - 6 5.2
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22 « D76 23 « D63 24 « Kn104
Ost v DKn7 Syd vEK74 Vast v EK642
ov ¢+ D9 Alla + Kn10 Ingen ¢ 62
#KKn874 #EKn107 762
» EKKn832 4E952 484 D763 oE
v8632 YE v103  vKn965 v 103 v DKn95
+ K83 + 10754 + KD72 ¢ E9843 ¢ EKD85 ¢ Kn1073
#E1032 #95 D62 #94 #Kn1053
«104 « KKn107  K9852
v K10954 v D82 v 87
¢ EKn62 465 ¢+ 94
*D6 K853 #EKD9
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 10 3v S= 49 140 120 00| 8 9 34S= +Q 140 120 00(11 2 5¢ V-2 ] 100 12.0
11 2 3vS-1 49 -50 100 20|14 5 INN= *4 90 100 20| 3 12 4¢ V-1 vA 50 8.0
3 12 34 0= v5 -140 70 50| 4 13 2¢ V= vA -90 80 40| 8 9 4e¢V-1 aJ 50 8.0
8 9 24 0+1 &6 -140 70 50(11 2 2NN-1 +3 -100 50 7.0(14 5 4e V-1 vA 50 8.0
4 13 24 O+2 #Q -170 20 100(15 6 2NN-1 +3 -100 50 7.0| 1 10 34 S-1 *A -50 4.0
14 5 24 O+2 #Q -170 20 100(| 3 12 3NN-2 +3 -200 20 100(15 6 44 S-2 *A -100 20 1
15 6 24 O+2 #Q -170 20 100| 1 10 4v N-3 48 -300 0.0 120 4 13 5¢ V= vA -400 00 1
-7 65| - 7 65| - 7
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